Volume and Surface Area of Cuboids

(\

REVISE THIS
TOPIC
1 Here is a cube.
Not drawn
accurately
3cm
1) Work out the volume of the cube. [2 marks]

Ax Ax 3

Answer Q., I cm?3

1(b) Work out the surface area of the cube. [2 marks]

Ix2 = Qum’
9% 6= S am®

Answer S L\- cm?2
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2 Here is a cuboid.
Not drawn
accurately
3cm
2cm
6 cm
2 (a) Work out the volume of the cuboid. [2 marks]

Cx2x 3

Answer ’S 6 cm?

2 (b) Work out the surface area of the cuboid. [3 marks]

bx 2= (2
ex3:=1¢ % x2=3F)
2x 3= 6

%6
Answer _q' 2— cm?
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3 Here is a cuboid.

Not drawn
accurately
4 cm
6 cm
15cm
3(a) Work out the volume of the cuboid. [2 marks]
ISX b X &
Answer ’S 60 cm?3
3 (b) Work out the surface area of the cuboid. [3 marks]
ISxG = 40
ISx ¢ = 60O 34 x)
bx 4 = 24
T
Answer SL\’g cm?
10
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4 Here is a cuboid. 25m

S5m Not drawn

accurately

4m

4 (a) Work out the volume of the cuboid.

[2 marks]
Answer 5 O m3
4 (b) Work out the surface area of the cuboid. [3 marks]

"

xS 10 12 Sx L= 6S

Lyx 1S =10
Sx1S =125

325

Answer 6 5

1
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5 Here are three cuboids. Not drawn
accurately
Cuboid A Cuboid B Cuboid C
1.6cm
3cm
3cm
11 cm 5cm
2cm
5cm
2cm
6cm

Work out the cuboid that has the greatest volume.
You must show your working. [4 marks]

A: 2x3xS = YSym’
B 2x 2xil = Y4om’
C: 6xSxlb> GRum>

Answer C
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6 Here is a small cuboid and a large cuboid.
Not drawn
accurately
2m
25cm
“ 20 cm 2m
20 cm 5m

Work out how many of the smaller cuboids could fit into the larger cuboid.
3 [4 marks]

W x%x20% 25 = 000D am \
SO0X 00X WO = 720000000 om
10 00 60p = (00OD = 2000

O
S00 < 10:= 15
200 ~ 20 = \O 26 x10%x Q
WO - 1S = % = 1000

Answer 2, OOO
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7 Here are two cuboids with the same volume. Not drawn

accurately
3cm
hcm
3cm
3cem 6 cm
16 cm
Work out the value of h. [4 marks]

low 23 = \4G om?
bx T = \8

G = \3= R
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8 Here is a cuboid.

Not drawn
accurately
6.5cm
6.4 cm
\Sem
The volume of the cuboid is 624 cm3
Work out the surface area of the cuboid. [4 marks]

64 %65 = 416
blYy =~ 416 = \S

b4 xb-S=41b 727S-1x2
b4 x IS =96 =430 -2
-5 x \S =415

135\

Answer Ll'q'o ' ’L om?
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9 Here is a cuboid.

The identical copies of the cuboid are stacked together to make a larger
cuboid.

For each statement below, tick one box. [3 marks]

True False

The height of the new cuboid is 3 times
the height of the original cuboid.

The volume of the new cuboid is 3 times \/
the volume of the original cuboid.

The surface area of the new cuboid is 3 \/
times the surface area of the original cuboid.
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10 A cuboid is placed onto a flat surface so that the bottom face is no longer visible.
13m Not drawn
T accurately
Im
|
0.8m

The five visible faces of the cuboid are to be painted.
Each tin of paint can cover an area of 1 m? and costs £3.50

Work out how much it would cost to buy enough tins of paint to paint the five
visible faces of the cuboid. [5 marks]

|<x0-§ =0:-%
lx V-2 = -0
(-2 x0-8= 0196

(ax0-8)+ (Lx1-2) + (1 x09¢)
= 49bm*

need S Hing Sx3-50=113:50

Answer £ ‘:l' ' S O
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11 A cube has a volume of 1000 cm3

Work out the surface area of the cube. [3 marks]

21000 = (O

(lox 10 x 6= 600

Answer 6 O O cm?

12 A cube has a surface area of 54 cm?

Work out the volume of the cube. [4 marks]

IxAIx
AT
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13 Here is a cuboid.

5cm

2.5cm

The surface area of the cuboid is 61 cm?

Work out the volume of the cuboid. [5 marks]

S5x1-§=11-§ 1S = 36
2-S» 2 =15 x= %
bl- 25-= 136 15

x= 24
195xx xL=%x

Sxx x 2> \Dx Sx LSx L
\Ox + Sx = |Sx = 30

Answer 3 O cms3
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